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SN RIS

A ALE Hs WG YASENX T A (SSL2E/HR)

Rl MEHSE TUFN = (St &)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
=8| d4EH=s s4 175,000 65,000 110,000

308 XHXIEMSOIE 175,000 65,000 110,000

01 XN BSELS 175,000 65,000 110,000
OFEd =AX=Z2Y XA 15,000
OFd A2 dEMs 243 Xd 15,000
O%F =4 OFE XI& 15,000
0LE REAXZ=ZEY & 30,000
OYE dEHM=s =aE 243 N2 10,000
Odd Oelol Hisud 28 Xd 10,000
O2Nl #ad AE=3g |4 K& 50,000
O Olelo] Hisnd 29 X2 10,000
oYY RAad AXXSEH |4 KF 10,000
oYY sH dEMs 243 N2 10,000

HEHNSN A MHH X2 110,640 88,011 22,629

308 AHAIEMSOIE 110,640 88,011 22,629

01 MASHHBSEEXS 110,640 88,011 22,629
OMEMEXNTA MRHH X 110,640

MBS A 28 XA (=1) 2,008,552 1,934,606 73,946
Jl 2,008,552

308 AXItHSOIA 2,008,552 1,934,606 73,946
) 2,008,552

01 AXH B2 LS 2,008,552 1,934,606 73,946
OMEXNSX =Xt HH X 2,008,552
Il 2,008,552

24l Msgs AJd(=1) 90,950 90,950 0
J| 22,470
= 68,480

307 elztol & 90,950 90,950 0
Il 22,470
== 68,480

02 2B YA R E X 90,950 90,950 0
onsddENsU XA 90,950
) 22,470
= 68,480

24l Msags XY (AMZ)(22) 1,198,652 1,163,909 34,743
Jl 1,198,652

308 AIXIHHSOIA 1,198,652 1,163,909 34,743
) 1,198,652

01 AXEH B2 LS 1,198,652 1,163,909 34,743
ONSMHEHFA=AL BRI 1,198,652
Il 1,198,652

ZOHI M X=X BHXI(22) 745,062 719,946 25,116
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A MY
A ALE Hs WG YASENX T A (SSL2E/HR)
Rl MEHSE TUFN = (St &)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
7l 745,062
308 AXIHSOIA 745,062 719,946 25,116
Jl 745,062
01 XN BELES 745,062 719,946 25,116
OZ UMM F A = A+ B 745,062
Jl 745,062
ARZ=ZF0IEA XE(21) 3,909,150 4,140,180 A231,030
Il 3,219,300
= 689,850
308 AXIHHS0IA 3,909,150 4,140,180 A231,030
Jl 3,219,300
< 689,850
01 HRHHBAEES 3,909,150 4,140,180 A231,030
OAZ=ZZ0IZH XI& 3,909,150
) 3,219,300
= 689,850
ZOHQIAZ=ATOIEH KR (21) 1,061,412 824,670 236,742
7l 874,104
= 187,308
308 AtXIEMSO0IE 1,061,412 824,670 236,742
J| 874,104
=S 187,308
01 XN B2 LS 1,061,412 824,670 236,742
OZMAAZ=AR0ISH X 1,061,412
Jl 874,104
[ 187,308
=PHHISH 23(=1) 855,288 712,740 142,548
Il 865,288
308 AXIHHSO0IA 855,288 712,740 142,548
Jl 865,288
01 AXEN B2 LS 855,288 712,740 142,548
O=2H=ASH 29 855,288
7 855,288
NAHES deMsegs NH(=22) 500,000 0 500,000
7l 350,000
= 150,000
307 elztol & 500,000 0 500,000
Jl 360,000
=S 150,000
02 2B YA HE X 500,000 0 500,000
OXsisd dEnsgs N 500,000
Jl 350,000
< 150,000
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M S

M AAE S HEE LASEMIE S (SSFL2Z/HK)

St MSIIEAE =5 EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
SEMSAE HSHESHI| X X 38,000 0 33,000

308 REXISHMSOIH 38,000 0 38,000
01 AXIEHELAERS 38,000 0 38,000
OZ2Z2NMEAE ANsESAHI| X XA 38,000
RIS (&AL HZ 375,000 662,000 287,000
OAIOH B3} &t HISHS 35,000 35,000 0
308 XtXISMS0IH 35,000 35,000 0
01 XN BAELS 35,000 35,000 0
©2025 OtAIOF B3 &4 HISH3 35,000
2025 =X IDCIOILLEZMEHH =US! JH=l K& 200,000 0 200,000
308 AXIHMISO0I& 200,000 0 200,000
01 AXIEHBAEES 200,000 0 200,000
©2025 EXHDCIOILEZMENAZHS] JHZ
& 200,000
WTT Youth Contender ZE=H &3l 50,000 0 50,000
308 REXIHMSOIH 50,000 0 50,000
01 AXISHEAExS 50,000 0 50,000
OWTT youth Contender Z2& =HIEF7U3 50,000
2025 A= 2H =& S2Us 70,000 0 70,000
308 AXIHMSO0I& 70,000 0 70,000
01 XN BAELS 70,000 0 70,000
02025 A3 =2H =& s2U3 70,000
2025 ot =M Ediz HAEE izl X 20,000 0 20,000
308 KXISHMSOIH 20,000 0 20,000
01 HXSHBSEES 20,000 0 20,000
02025 & ZH Eclzl HAEIY JHxl X 20,000
M2 AAHI(MSF D) (DIEHIIE 31,164 30,902 262
=&l 31,164 30,902 262
A9 J|23h| 31,164 30,902 262
201 23| 20,876 21,222 A346
01 AtR22ltl 20,876 21,222 A346
SA2Y AIR22I] 20,876
202 Ot 6,688 6,080 608
01 =LH0d 6,688 6,080 608
EA2E U0l 6,688
203 gRFE| 3,600 3,600
M FA2ILRFAH 3,600 3,600
©20¢! Olat 300,000 *12& 3,600
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